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AN A BIAD (£F 1)

BifEERR: 258548118 (B)
{fEfFO—X: OUT IN

IRELRTE 3% VbR

57 o
it - 58 A
Iz ShnEA ouT IN GROSS HDCP  NET Lo
1 B M 50 42 92 240 680
2 EAX FHEB 38 42 80 120 680
3 1FH xie 42 43 85 16.0 69.0
4 Bz 40 42 82 100 720
5 HER= 54 48 102 300 72.0
6 FHFRA 39 43 82 100 720
1 Pk AE 43 49 92 190 730
8 TR FEF] 44 45 89 160 730
9 Pl i 41 40 81 70 740
10 )il 2B 49 46 95 210 740
11 H 28 42 44 8 11.0 750
12 &8 B 45 41 86 11.0 750
13 i 41 40 81 6.0 750
14 38 A= 44 40 84 90 750
15 Hf Ea 40 40 80 50 750
16 7 #288 41 39 80 50 750
17 1B % 43 52 95 19.0 76.0
18 hfk &= 42 42 84 70 710
19 HIR X 52 47 9 220 770
20 EHMBX 47 40 87 100 770
21 FHEE 44 42 86 90 770
22 #H R 45 40 8 80 770
23 KiIF HE 44 43 87 90 780
24 D IEE 47 44 91 120 79.0
25 A —5 46 49 95 15.0 800
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St Samm R ki 1 ien e SAH

HDCP_LRR: 531%:36 % 14%:36 =7 :36 i E 53 i

=7 0A

it - 58 A

Iz SmER ouT IN GROSS HDCP  NET Lo

26 ik Wi 50 52 102 220 80.0
27 fERK 50 49 99 190 80.0
28 IUKF EA 46 48 94 140 800
29 ER EH 48 43 91 100 81.0
30 FEIH 52 50 102 21.0 81.0
31 EEE 39 51 90 90 810
32 BE#1T 51 53 104 230 81.0
33 & &M 50 40 90 80 820
34 #iMA & 48 50 98 16.0 820
35 = 5h 47 45 92 100 820
36 H #— 42 4 83 1.0 820
37 #R RA 51 52 103 200 830
38 JKEF B 53 48 101 17.0 84.0
39 B2 HE 44 46 90 60 840
40 =iE A 52 44 96 120 840
41 HEE Fith 49 49 98 130 850
42 HEH ¥ 46 50 96 11.0 850
43 T4 B 49 49 98 120 86.0
44 rhjE =8B 51 56 107 20.0 87.0
45 I # 53 49 102 150 87.0
46 LtEH B— 49 46 9% 70 880
47 TR B 52 51 103 150 88.0
48 TER RF 55 50 105 17.0 88.0
49 bl mz 50 48 98 90 890
50 #F* BAX 52 49 101 120 89.0

2/3R—




EEEMh ) —EEER 2025/05/11 17:37

AN A BIAD (£F 1)
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ffA3—X: 0UT IN IBRLREAE: VB
B BEAR BBl 1 £EAH SMA%
HDCP_ERR: Bi4:36 & 1E:36 ©=7:36 i 58 A
= 4 oA
P2mly s oA
it 58 A
=32 SES ouT IN GROSS HDCP  NET wE
51 =¥ EA 46 51 97 8.0 89.0
52 WFE 51 48 99 100 89.0
53 F0HE XER 56 48 104 130 91.0
54 &M HE 59 56 115 220 930
55 BH %A 62 57 119 250 940
56 Ho FH= 52 58 110 160 940
57 HWU FH 53 52 105 6.0 99.0
58 ¥k A= 69 63 132 150 1170
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